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ENGLISH VERSION

1 Dhaduk Ltd. manufactured and sold 4000 units of TV sets 20
at its 50% production capacity in the year 2017. Production
cost of year ended dt. 31-12-2017 is as under :

MaterialS.....cccooeeivivieeiiiiiieeiiiieeeeeee. Rs. 80 per unit
Wages ..ccooeevviiieeiiiiiieeeee, 50% of materials consumed
Direct eXpenses ......cccccceeeeiieieeiiiieeeiieeeiieeean. Rs. 80,000
Factory overheads (60% variable)............ Rs. 2,00,000
Office overheads (fixed) .........covvvveeeeeeeee.n. Rs. 1,40,000
Selling overheads (40% variable)............. Rs. 1,00,000
Sales ..o Cost + 10% profit

For the year 2018, it is estimated that :

(1) The output will be at its full production capacity and
75% of the production will be sold.

(2) Cost of materials and wages will increase by 20% and
10% respectively.

(3) Fixed factory and office expenses will increase by
Rs. 40,000 and Rs. 20,000 respectively.

(4) The rate of profit on cost will increase by 100%.

From the above information, prepare the following statement :

(1) A statement of cost showing total as well as per unit
cost and profit for the year 2017 and

(2) A statement of cost showing estimated profit for the year 2018.

OR
1 A company prepares two products ‘A’ and ‘B’ production 20
cost for the year ended 315t March, 2019 was as under :

MaterialS .....coovvvviiiiiiiiiiiieiinnns Rs. 7,50,000
Wages . ...cooovveeeeiiieeeiieeeeeeee, Rs. 4,20,000
Factory Overheads .................... Rs. 1,80,000

In the beginning and at the end of the year, there was no

stock of semi-finished goods.

(1) Direct materials per unit for ‘A’ is double than that of ‘B’.

(2) Direct wages per unit for ‘B’ is 90% of wages of ‘A’.

(3) Factory overheads per unit was same for both ‘A’ and
‘B’ products.

(4) Office overheads were 150% of direct wages for each
type of product.
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(®)

Selling expenses for both the products are 50 paise per
unit.

(6) During the year :

‘A’ production 50,000 units out of which 70% 1s sold.
‘B’ production 1,00,000 units out of which 80% is sold.
(7) Selling price for ‘A’ is Rs. 20 and ‘B’ 1s Rs. 15.
Prepare Cost Sheet showing Total Cost, cost per unit and

profit for each type of product.

Vijay Engineering Co. the following particulars have
been extracted for the year ended 315t March, 2019.

20

Particulars Production Departments|Service Departments
A B C X Y

Direct Materials (Rs.)| 15,000 | 30,000 | 30,000 22,500 22,500
Direct Wages (Rs.) 30,000 [ 45,000 | 60,000 15,000 30,000
No. of Employees 150 225 225 75 75
Electricity (k.w.h) 6,000 | 4,500 | 3,000 1,500 1,500
Value of Assets (Rs.)| 60,000 [ 40,000 | 30,000 10,000 10,000
Light Points 10 16 4 6 4
Area (Sq.m) 1,500 | 2,500 500 500 500

The expenses for the period were :
Particulars Rs. | Particulars Rs.
Power 1,100 | Depreciation 30,000
Lighting 200 | Repairs 6,000
Stores overhead 800 | General Overheads 12,000
Staff Welfare 3,000 | Rent and taxes 550

Apportion the expenses of department Y according to direct

wages and those of department X’ in the ratio of 5:3:2 to

the production departments. Compute the departmental

overhead rate of each of the production overhead rate of each

of the production departments assuming that overheads are

recovered as a percentage of direct wages.

OR
Modi Ltd. has three production departments X, Y and Z 20

and two service departments D and E. The following
information are taken from the books of Modi Ltd. :

Rent and Taxes ..ccooeeeeeieeeeiieiieeieeeeen. Rs. 5,000

General Electricity ........ccooooeviiiviieeeeiiinnnnn... Rs. 600

Indirect Labour.....cc.cccoevvuviieiineiineainnnnnn. Rs. 1,500

POWEY oo, Rs. 1,500

Depreciation of machine....................... Rs. 10,000

Miscellaneous exXpenses...........ceeeeeevun... Rs. 10,000
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Particulars Total X Y Z D E

Space occupied

(sq. ft.) 10,000 | 2,000 | 2,500 3,000 | 2,000 | 500

Light points 60 10 15 20 10 5

Direct Labour (Rs.)| 10,000 | 3,000 | 2,000 3,000 | 1,600 | 500

Horse Power 150 60 30 50 10 -

Value of the

assets (Rs.) 2,50,000 {60,000 |80,000 |1,00,000 | 5,000 | 5,000

Working hours — 1 6,226 | 4,028 4,066 — —

Distribution of

expenses of

Dept. D - 20% 30% 40% —| 10%

Distribution of

expenses of

Dept. E — 40% 20% 30% 10% —
Prepare statement showing allocation of overheads to various
departments and show the distribution of service department
expenses to X, Y and Z by repeated distribution method.
And assuming that overheads are absorbed on basis of
working hours, determine the rate of percentage for each
dept.
From the following information find out : 15

(1) Economic ordering quantity (2) ORdering level

(3) Maximum Level (4) Minimum level

(5) Danger level (6) Safety stock

Annual consumption ..........cccceoovvieeeiiiiiiieeeennnnnn. 12,000 units

COSt POTr UNIE .ovvvniiiiiiiieeciiiee e Rs. 1

ORAering Cost .....ovvueeiiiiiieeeeeeeee e Rs. 12

Carrying CoSt .....oovvviiiieeeeeeeeeeeecceee e 20%

Delivery period (maximum, average

and MINIMUIM) ...ooooveieiiiiie e e eeeaen. 30-15-5 (days)

Daily consumption (maximum, average

and MINIMUIM) ....oooveeeiiiiiiee e 45-33-15 (units)

Maximum delivery period for

emergency purchase ..........ccccooeeeiiiiieeiiiiiiieeeeiiiieeeeee, 5 days
OR
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3 (A) From the following details find out : 10

(1) Reordering level (2) Minimum level
(3) Maximum level and (4) Average level.
Weekly maximum consumption (Units).................. 150
Weekly Average consumption (units)...................... 100
Ordering period (wWeeks) ....ccooeeeveiiiiiiiiiiieeeenen.n. 8 to 12
Ordering Quantity (UNIts) ..........cceeeeeiriiiieeeiiiineeens 400

(B) From the following information find out material 5

turnover rate and turnover period. Opening stock of
materials Rs. 20,000, closing stock Rs. 50,000 and
purchases Rs. 1,70,000.

4 Find out labour turnover rate according to : 15
(a) Separation method
(b) Replacement method
(¢c) Combined or flux method
(d) Equivalent annual labour turnover rate as per
replacement method.

(1) No. of workers as on Date 01-03-2019 ......... 260
(2) No. of workers resigned ...........ccccocveveeeeeeeeennnnnnn, 30
(3) No. of workers dismissed.......cccccoovvuueviiiiinnnennes 10
(4) No. of workers retired........cccooevviiiiueeiiiiiieeeeeinnn. 4
(5) No. of workers newly appointed (100 workers were

appointed due to the expansion plan)........... 136
(6) No. of workers as on dt. 31-3-2019............... 340

OR
4 (A) Bholenath takes 72 hours to complete the job. 10

The wage rate per hour is Rs. 10. If he has received
Rs. 864 as total wages according to Rowan Plan, what
would be the amounts of wages earned by him according
to Halsey plan ?

(B) Standard time for a job as per time wage system is 5
8 hours. An employee completes the work as per piece
wage system in 6 hours. He gets Rs. 2 per hour as
wage.

Find out wages as per :
(1) Time Rate system and
(2) Piece rate system.
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